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Count each 7 which is not immediately
preceded by 5 but is immediately
followed by either 2 or 3. How many

such?'samthere?
5726573337325727

2482678
(A) 2 (B) 3
€) 4 (D) 5

2. Five persons A, B, C, D and E are
sitting in a row facing you such tha?t D
is on the left of C and B is on the right
of E. Ais on the right of C and B is on
the left of D. If E occupies a corner
position, then who is sitting in the

center ?
(A) A (B) B
(C) C (D) D

3. Choose the correct alternative.
Fossils : Creatures : : Mummies : ?
(A) Egypt
(B) Human beings
(C) Animals
(D) Martyrs

4. Choose out the odd one. .
(A) Intimacy (B) Enmity
(C) Attachment (D) Friendship

5. If FULFNHW is the code for CRICKET,

then EULGH is the code for which

word ?
(A) PRIDE (B) BRIDE
(C) BLADE (D) BLIND

A trader sold an article at a loss of
5% but when he increased the selling
price by ¥ 65 he gained 3.33% on the
cost price. If he sells the same article
at ¥ 936, what is the profit
percentage ?

(A) 15%

(8) 16.66%
(€) 20%

(D) Data insufficient
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11.

13.

14,

expenses for 4 days is
;wg» ;gﬁrg:nt 7 7.70 on first day and
2 6.30'on second day. If I spent X 10
on ihird day, what did | spend on the

fourth day ?

(A) T2

(8) T3

(C) X4

(D) None of these

If 5°= 3125, then a3 =
(A) 25 (B) 125
(C) 625 (D) 1625

A two digit number is such that the
product of the digits is 8. When 18 is
added to the number, then the digits
are reversed. The number is

(A) 18 (B) 24
(C) 42 - (D) 81
Find the number, difference

between number and its 3/5 is 50.
(A) 120 (B) 123
(C) 124 (D) 125

Fathometer is used to measure
(A) Earthquakes

(B) Rainfall

(C) Ocean depth

(D) Sound intensity

When milk is churned, the cream is
separated from it due to

(A) Gravitational force

(B) Centrifugal force

(C) Frictional force

(D) Heat

Which of the following is widely used
as an anaesthetic ?
(A) Methane
(C) Chlorine

(B) Ammonia
(D) Chloroform

Which gland in the human body is
called the master gland ?

(A) Pancreas (B) Pituitary

(C) Thyroid (D) None of these

Meningitis is caused by
(A) Fungi

(B) Salmonella

(C) Meningococcus
(D) Virus menin
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22.

ENGLISH LANGUAGE

Out of the given alternatives, choose
the one which best expresses the
meaning of the given word,

VERATE
(A) Scold (B) Judge
(C) Downgrade (D) Deny

Choose the word opposite in
meaning to the given word.
LACONIC

(A) Prolix. (B) Profligate
(C) Prolific (D) Bucolic

Out of the four alternatives, choose
the one which best conveys the
meaning of the phrase.

Informal  business communication
with a personal signature,

(A) Agendum

(B) Corrigendum

(C) Plagiarism

(D) Memorandum

Fill in -the blanks with appropriate
Preposition choosing from the four

alternatives  given below the
sentence :

His path was beset

difficulties.

(A) with (B) within

(C) among (D) by

Choose the correctly spelt word.

(A) Conglomerate s

(8) Congolmerate
(C) Cognolmarete
(D) Cnoglomerate

fe=<it W
FyerforfRas 3 9 Sorass Yfoa TRl B

€7
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(B) @i XISTE
(C) Mmer

(D) yediera ¥
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The 42™ G-7 Summit in 2016 was
held in which country ?

(A) Japan (8) Canada

(C) France (D) Germany

The renowned Sanskrit  Drama
‘Abhigyan Shakuntalam' was written
by

(A) Magh
(C) Dandi

(B) Kalidas
(D) Bharavi

Salt March, Dandi March or Salt
Satyagraha in India led by Mohandas
(Mahatma) Gandhi was started in
the year
(A) 1915
(C) 1930

(B) 1919
(D) 1937

According to 2011 Census report

which is the most populous state of
India ?

(A) Bihar

(B) Maharashtra
(C) Uuttar Pradesh
(D) Madhya Pradesh

The Indian Armed Forces are under
the management of which Ministry ?
(A) Ministry of Defence

(B) Ministry of Foreign Affairs

(C) Ministry of Home Affairs

(D) President of India

Arrange the words given below in
proper order and choose the most
appropriate  sequence from the
alternatives provided below the
question.

1. Poverty

2. Population
3. Death

4. Unemployment
5. Disease

(A) 3,4,2,51

() 2,3451

(B) 2,4,1,

51
(D) 1,2,3,4

3
45
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2016 3 G-7 W1 42t [z &4
dor & spafora fear ma ar ?

(A) ot (B) @ers

(C) wiu (D) o
yuftia v e sifvgr e
fyea freman 7
(A) T

(C) wud)

(8) anferami
(D) =n=fa

ARA N OE-UTE], Ay un TG
TR HiEASTd (rEren) g & Age #
far a aresy gan 2 ?

(A) 1915 (B) 1919

(C) 1930 (D) 1937

2011 @) SEATVEN RYE & IR IR
a1 wrad) w=) s ard g B W E ?
(A) fagr

(B) RIS

(C) QEYHe™

(D) weu WY

WReAA A Al R ey ¥ waus
FanfF & ?

(A) Rens=EIEg

(B) R&v e @1 ey
(C) e Hash we @l wETay
(D) *Rd & Wwgufy

A Ry ¢ ) @ v Wl W N @afyg
MY 3 e & A R e Ry §
el Aol @1 gy @i

1. i) 2, SR
3. Uy 4. AWGR)
5. 4

(A) 3,4,2,5,1

(B) 2,4,1,5,3

(€C) 2,3,4,5,1
(D) 1,2,3,4,5
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38.

39.

40.

41.

Arrange the given words in
alphabetical order and choose the
one that comes first.

(A) Grind
(B) Growth
(C) Great
(D) Grease

Five children were administered
psychological tests to know their
intellectual levels. In the report,
psychologists pointed out that the
child A is less intelligent than the
child B. The child C is less intelligent
than the child D. The child B is less
intelligent than the child C and child
A is more intelligent than the child E.
Which child is the most intelligent ?

(A) A () B
(C) o (D) E

Choose the correct alternative.
Market : Demand : : Farming : ?
(A) Farmer

(B) Monsoons

(C) Foodgrain

(D) Supply

Find out the wrong term in the given
series.

380, 188, 92, 48, 20, 8, 2

(A) 188 (8) 92

(C) 48 (D) 20

A vendor bought toffees at 6 for a
rupee. How many for a rupee must
he sell to gain 20% ?

(A) 3 (B) 4

(C) 5 (D) 6
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45.
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The average income of a group of 9
workers is ¥ 137.30 and that of
another group of 7 workers is
¥ 95.06. The average income of all
the persons is
(A) T118.82

(C) ¥125.18

(8) 1116.18
(D) ¥128.15

The difference between a two digit
number and the number obtained by
interchanging the positions of its
digits is 36. What is the difference
between the sum and the difference
of the digits of the number if the

ratio between the digits of the
numberis1:2?

(A) 4
(B) 8
(C) 16
(D) None of these

1f3"* =27and 3'"*) =243, then «x
is equal to
(A) O
(C) 4

(8) 2
(D) 6

A water tank is two fifth full. Pipe A
can fill the tank in 10 minutes and pipe
B can empty in 6 minutes, If both the
pipes are open, how long will it take to
empty or fill the tank completely ? -
(A) 6 minutes to empty

(B) 7 minutes to full

(C) 6 minutes to full

(D) 7 minutes to empty .

82. A worgdl W um i @ st s

43,

45,

2137.30 & 3l 7 HorgR) & Ha WIS @

2 95.06 &t | 35 Wl ) afrera amad @l

w7
(A) Z118.82 (8) 2116.18
(C) ?125.18 (D) ?128.15
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Mark the wrong combination.
(A) James Watt : Steam Engine
(B) A.G.Bell:; Telephone

(C) J.L.Baird : Television

(D) J. Perkins : Penicillin

When iron and wood are exposed to
sunlight, the iron rod becomes hot

quickly because

(A) Greater thermal conductivity of

iron

Lower thermal conductivity of

(B)

iron
(C) More density of iron
(D)

Less density of iron

Permanent hardness of water is due
to the presence of

(A) Calcium bicarbonate
(B) Magnesium bicarbonate
(C) Calcium sulphate

(D) Sodium bicarbonate

Which of the following in the human
body is affected by leukemia ?

(A) Blood (B) Lungs
(C) Eyes (D) None of these

The largest part of the human brain
is the

(A) Medulla oblongata

(B) Cerebellum

(C) Cerebrum

(D) Mid-brain
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Bhakt and musician, Surdas was

contemporary of
(A) Akbar
(C) Humayun

(B) Babur
(D) Aurangazeb

Most ancient ‘Vat-Vriksha’ (Banyan
tree), which is considered to be
associated with ‘Geeta-Gyan’, is
located at

(A) Pehowa
(C) Manesar

(B) Jyotisar
(D) Amin

Which city of Haryana is called
“Power House of Boxing” ?

(A) Sonipat (8) Rohtak

(C) Sirsa (D) Bhiwani

Which of the following river formed
the boundary line between Haryana
and Uttar Pradesh ?
(A) Yamuna

(C) Sahibi

(B) Saraswati
(D) Ghaggar

Which of the following cities is not
included in National Capital Region ?
(A) Sonipat (B) Gurgaon
(C) Hisar (D) Faridabad

Which district is formed at last ?
(A) Mewat (8) Palwal
(C) Panchkula (D) Kaithal

The number of Lok-Sabha seats of
the Haryana is
(A) 8
(C) 12

(8) 10
(D) 7

Which Pilgrimage is located at the
Kheri Guijjar Village of Sonipat district ?
(A) Ramdev Pilgrimage

(B) Shitla Pilgrimage

(C) Satkumbha Pilgrimage

(D) Dhamtan Pilgrimage
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What is name of garden situated at
Pinjore ?

(A) Rose Garden

(8) Yadavindra Garden

(C) Sultanpur Garden

(D) Karna Lake Garden

On  which  National Highway
Dharuhera Industrial Region is
located ?

(A) Delhi-Jaipur
(B) Delhi - Rohtak
(C) Delhi~ Ambala
(D) Delhi-Agra

In which city, Hindustan Machine
Tools (HMT) Ltd. is located ?

(A) Gurgaon (B) Faridabad
(C) Pinjore (D) Ambala

Government Sugar Mill in Kurukshetra
district is situated at :

(A) Pehowa

(B) Shahbad
(C) Thanesar

(D) Ladwa

Kala Teetar Tourist Place is in which

district of Haryana ?
(A) Hisar (B) lJind
(C) Sirsa (D) Fatehabad

Teej festival falls in which month ?
(A) Phalgun (B) Kartik
(C) Vaishakh (D) Saavan

All craftsmen and artists of India
participated in which fair of Haryana ?
(A) Ballabhgarh Kartik Mela

(B) Surajkund Crafts Mela

(C) Kalesar Mela

(D) Kurukshetra Suryagrahan Mela

Khalsa Sect is formed in the month of
(A) Chaitra (B) Kartik
(C) Vaishakh (D) Saavan

Ever flowing river through Haryana :
(A) Markanda (B) Saraswati
(C) Yamuna (D) Sahibi
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The city Gharonda is located in
which district of Haryana ?

(A) Panipat (8) Karnal

(C) Jind (D) Kaithal

It is believed that, the artist
has started the Saang (Swaang) of
Haryana,

(A) Mangeram

(B) Kishan Lal Bhaat

(C) Ali Baksh

(D) Deepchand

Which of the following is/are

objective(s) of Pashudhan Bima

Yojana of Haryana Government

launched on July, 20167

(A) The scheme is free of cost for
cattle breeders from the SCs.

(B) Insurance cover will be provided
at a premium of ¥ 100/- for
cows, buffaloes, bulls and
camels.

(C) Insurance cover will be provided
at a premium of ¥ 25/- for
sheep, goat and pig for a period
of three years.

(D) All of these

Who started the construction of the
famous Qutub Minar ?

(A) Qutbuddin Aibak
(B) Illtutmish

(C) Firoz Shah Tughlaq
(D) Balban

who was the first woman to rule Delhi ?
(A) Razia (B) Chand Bibi
(C) Laxmibai (D)  Noorjahan

On which west-flowing river is the Jog
Falls located ?

(A) Sharavati
{C) Narmada

(8) Purna
(D) Krishna

Which is the home of the Asiatic lion ?
(A) Corbett National Park

(B) Kanha National Park

(C) Dudhwa National Park

(D) Gir National Park
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By which constitutional amendment
was the voting age reduced from 21
to 18 years ?

(A) 427°(1976)
(C) 61*(1988)

(8) 45" (1980)
(D) 68" (1991)

How many Fundamental Rights were
provided to the Indian citizens in the
original Constitution ?

(A) 9 (B) 8

€) 7 (D) 6

Which period did the First Five-Year
Plan cover ?
(A) 1947-52
(C) 1950-55

(B) 1951-56
(D) 1952-57

When was the Decimal currency
system introduced in India ?
(A) January 1955

(B) April 1955
(C) April 1951

(D) April 1957

When was the National Emblem
adopted ?

(A) 15 August, 1947

(B) 26 January, 1950

(C) 26 November, 1946

(D) 26 December, 1949

In which state is the Gol Gumbaz,
the largest dome, located ?

75.

76.

7.

78.

79.

80.

fa dfdum S & gl FaLTi-ay
21 am I e wi ) T

(A) 424 (1976) (B) 454 (1980)
(C) 61d(1988) (D) 684 (1991)

. . Qe
@ wfar § wrdy amRal @ R
sifere v wer fye aga?
(A) @ (B) 8.
) 7 (D) ©
W taaita drorn A R sraf wt g
faa a2
(A) 1947-52 (B) 1951-56
(C) 1950-55 (D) 1952-57
N 3 Swray geygt yonef) @a dng
@1 7 2ft 7
(A) Srrafligss  (B) a1l 1955
(C) 3t 1951 (D) 3t 1957
ey Wil wa sifia a2 9
(A) 15 3T, 1947
(B) 26 Si=1a1, 1950
(C) 26 -1dwR, 1946
(D) 26 fawraz, 1940

qeaan padt, Ma paa fag s A
Iafa g2

(A) Karnataka
(B) Maharashtra (A) weife® (B) WeRmE
(C) Madhya Pradesh (C) = wem (D) fer
(D) Bihar
Who was the first Indian to be the 8l. qE ygdl WKW ®F Al S Y ¥
President of the International Court HRIGIR FURATEAY 1 Jfens §311 7
of Justice ? . (A) wdtena 91, anfran
(A) Harilal J. Kania B) i i
(B) Nagendra Singh (B) = e
(C) Y.V.Chandrachud (C) g a<gs
(D) M.N. Venkatachaliah (D) Wit JFeaam
Which is the country's longest beach ? 82. QT FI AN G WS T B 2
(A) Juhu (B) Marina Beach (A) g (8) n dra
(C) Chorwad (D) Kovalam (©) TS (D) :
In which year was PIN code 83, Fraad s Ry
introduced ? : W 1eTs @y v ran 2
(A) 1971 (8) 1972 (A) 1971 (B) 1972
(C) 1980 (D) 1975 (C) 1980 (D) 1975
12 39
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In which year was the Metric system
9‘ welghts and measures took effect
N India ?
(A) 1956
(€) 1971

(B) 1962
(D) 1958

In which year was South African
leader Nelson Mandela sentenced to
life imprisonment ?
(A) 1960

(C) 1969

(B) 1964
(D) 1973

In which year did Napoleon become
the Emperor of France ?

(A) 1800 (B) 1804

(C) 1818 (D) 1821

What causes day and night ?
(A) Earth's rotation

(B) Earth's revolution

(C) Solar eclipse

(D) Sun-spots

What is the atmospheric layer close
to the Earth's surface known as ?

(A) Exosphere (B) lonosphere
(C) Stratosphere (D) Troposphere

Where is the headquarters of the
Amnesty International ?

(A) Geneva (B) London

(C) Bonn (D) Moscow

In which year was the International
Labour Organisation established ?
(A) 1945 (B) 1947

(C) 1950 (D) 1919

How many pairs of walking legs does
a cockroach have ?
(A) One

(C) Three

(B} Two
(D) Four

Which natural element has the
highest melting point ?

(A) Iron (B) Carbon
(C) Copper (D) Silver

Which country won the first Crick
World Cup ? “
(A) West Indies
(C) England

(B) Australia
(D) India
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(A) 1980 (B) 1964

(C) 1969 (D) 1973
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(A) 1800 (B) 1804

(C) 818 (D) 1821

fo=1 3 I € W FE AT E 2

(A) ueaft @1 ufamor

(8) e w1 uRanm

(C) wd-mwo

(D) A ua

geef) @) wrere & wefivr argavseliy WA
) TEArd & 7
(A) aErosd
(C) WIRTIHUSH

(B) 3musmvEd
(D) efpivEd

TR FERATA BT IR HET U7 8 7

(A) Rryar (B) @

(C) & (D) W)
R 5w e ) v fea an
Ndefie

(A) 1945 (B) 1947

(C) 1950 (D) 1919

foafd A fra SR s ard v R £ 0
(A) > (8)

(C) @ (D) uR

far Ry aea @ Seaam gavis § 5
(A) aite (B) T

(C) (D) eI
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with which of the following games is
Wimbledon associated ?

(A) Golf (B) Lawn tennis
(C) Soccer (D) Swimming

How long does it take for the Moon
to revolve around the Earth ?

(A) 27 days, 7 hr. 43 min. 12 sec
(B) 28 days, 4 hr. 21 min. 11 sec
(C) 23 days, 6 hr.

(D) 27 days, 6 hr. 51 min. 25 sec

Inderjeet Singh is associated with
which of the following games ?

(A) Shot put (B) Archery
(C) Shooting (D) Discus throw

Michael Felps won five gold medals in
the Rio 2016 Olympics. He belongs to

(A) Germany (B) Australia
(C) U.S.A. (D} Brazil

Who is newly elected President of
Asian Development Bank (ADB) ?

(A) Takehiko Nakao

(B) Hart Schafer

(C) Idris Haron

(D) Haruhiko Kuroda

The present Lieutenant Governor of
the Puducherry is

(A) Tathagata Roy

(B) Kamla Beniwal

(C) Kiran Bedi

(D) None of these

Rio Olympics-2016 was held between
(A) 9™ to 21" August

(8) 5" to 21 August

(C) 10™ to 21* August

(D) 15" to 31" August
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e fad A & WA farrass kg

7 v xa
(A) TITeT (8) ditefm
(C) TR (D) &

el @ yed) @ gy & A e
WY FTATE ?

(A) 27 fae1, 7 Hc 43 fiy. 12 9.

(B) 28 fa7, 4 HC 21 f.11 9.

(C) 23fa,66¢

(D) 27 f2A, 6 % 51 1. 25 Aq.

vl e Per 4 @ faa Ad |
e £ 2
(A) WiEye
(€) Framamh

Ra) 2016 sifafa i agdd Hed A
gta ¥l g2 Sfid | 3 i &

(A) ot (B) 3iiwgfern
(C) gyuu. (D) arfia

(B) hZaTsit
(D) feww ol

R @ 4@ (aoe) & wa Faifaa
L BT & 7

(A) EHEE @

(B) = fuiw

(C) zeRueERR

(D) TTEEH IS

TN F TN I YA &
(A) AT T

(B) @wen afyara

(C) fauad)

(D) 1Y QA @TE e

Ran afeifivs-2016 gud
(A) 99021 3rRa & @t
(B) 521 3na & A
(C) 109 21 3nRT & A
(D) 15631 3 & e
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